Warrior, Inc.

1100 SW Industrial Way
Tualatin, OR 97062
Phone: (888) 220-6861

Fax: (503) 692-0364
WAHBIDH PHUDUGTS customerservice@warrij)xrproducts.com

100% US MADE SINCE 1992 www.warriorproducts.com

FJ CRUISER REAR GORNERS

P/N: 3915/ 3915PC / §3915 / 3920 / 3920PC / $3920

Kit Contents:

Part Qty. Part Qty.

Rear Corners 2 1/4" x %" Hex Bolts 10

Corner Guard Brackets 2 #10 x ¥2" Self Tapping Screws 4

Rubber Edge Trim o6ft. Square Nylon Nut (square plastic inserts) 22

Y. x 14" Stainless Philips Head Screws 12 4" SAE Flat Washers 4
INSTALLATION:

1. Since the factory rear bumper and corners are one formed piece, the factory bumper
needs to be modified before the Warrior rear corner guards can be installed. This involves
irreversible removal of the plastic corner pieces.

2. Locate the seam between the corners and
the top of the bumpers caps. Utilizing a
rotary tool with a cut-off wheel or a box
knife (a small length of hack-saw blade
also works well), separate the corners from
the bumper leaving behind about 3/8" to
1/2" of material to serve as a flange that the
bottom edge of the new corners will set
against.

3. After the cuts have been made, remove the
plastic corners by pulling the bottom
edges out and up. They should pop off at
the top of the plastic internal structure
attached to the body. Now remove the
plastic internal structure and any plastic
inserts at this time.

4. Remove the two rear-most fender screws so that the Warrior corner guard brackets can
easily slip between the body and the rear plastic tabs of the factory fender. NOTE: If you
have Warrior Tube Fenders, disregard this last step.

NWRYSP  WARRIORPRODUCTS.COM MADE R«



mailto:customerservice@warriorproducts.com
http://www.warriorproducts.com/

Warrior, Inc.

1100 SW Industrial Way
Tualatin, OR 97062
Phone: (888) 220-6861

Fax: (503) 692-0364
WABB'UB pHnnucTs customerservice@warrij)xrproducts.com

100% US MADE SINCE 1992 www.warriorproducts.com

5. There is a series of square holes in
the body of the vehicle that we will
be utilizing for the brackets
installation. If any factory inserts
remain after removing the plastic
corners and their associated parts,
remove them now. Snap five of the
square plastic inserts per side into
the square factory holes shown in
the image to the right.

6. Align the brackets over the square
plastic inserts and attach them
with the 1" x 3/4" hex bolts. There
are 4" flat-washers provided for
the rear plastic fender tabs. Place
the washers on the bolts and set
them through the fender tabs and
corner guard brackets and into the
square plastic inserts. Do not over-
tighten as you risk stripping out
the plastic inserts.

7. There are two small holes per side
that will need to be drilled into the
body to attach the ends of the
brackets where no factory holes
are provided. Locate these
positions and use a 1/8" drill bit
then attach the ends of the
brackets using the #10 x 142" self-
tapping screws provided.

8. Once the Warrior corner guard
brackets have been installed, snap
the square plastic inserts into the
square holes on the corner guard
brackets. (six per side)

NWRYSP  WARRIORPRODUCTS.COM MADE R«


mailto:customerservice@warriorproducts.com
http://www.warriorproducts.com/

Warrior, Inc.

1100 SW Industrial Way
Tualatin, OR 97062
Phone: (888) 220-6861

Fax: (503) 692-0364
WABB'UB pHnDucTs customerservice@warrij)xrproducts.com

100% US MADE SINCE 1992 www.warriorproducts.com

9. Thereis a length of rubber fender trim provided to affix trim along the top and fender-
side of each corner guard. For tight corners, cut a small ‘wedge shape' from the front and
rear sides to allow the trim to lay flat.

10. Hold the corner guards up to the
brackets and visually locate the
inserts through the holes in the
corner guards. Use the ¥4" x 2" oval-
head screws provided to attach the
corner guards to the brackets. Once
again, take care not to over-tighten
as you risk stripping out the plastic
inserts. Finally, confirm that the
installed corner guards do not
interfere with operation of the tail
gate. Your Warrior Products corner
guards are now installed.

If you need further assistance installing your product, please contact us by email at
customerservice@warriorproducts.com or call us at (888) 220-6861.

NWRYSP  WARRIORPRODUCTS.COM MADE R«


mailto:customerservice@warriorproducts.com
http://www.warriorproducts.com/
mailto:customerservice@warriorproducts.com

